Clp . . . : :
s !Q ﬂ 5 Multiplica decimales por potencias negativas de diez

Nombre: Fecha: Puntuacion:
1408, 2 x 0.0001 = 2088, 6 % 0.01 =
5784,1 % 0.0001 = 7368,7 x0.01 =
1021,9 x 0.001 = 3262,5 x 0.0001 =
1356, 6 x 0.001 = 5578 x 0.001 =
6808,5 x 0.01 = 4508,7 % 0.01 =
5580,3 x 0.01 = 7472, 6 % 0.0001 =
8613,9x0.01 = 4967, 3 x 0.0001 =
9409, 8 x 0.001 = 8804,7 % 0.001 =
1009 x 0.001 = 6960, 7 x 0.001 =
8886, 1% 0.01 = 2261,5 % 0.0001 =
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Multiplica decimales por potencias negativas de diez

Nombre:

1408,2 x 0.0001 = 0.14082

5784,1 x0.0001 = 0.57841

1021,9 x 0.001 = 1.0219

1356, 6 x 0.001 = 1.3566

6808,5 x 0.01 = 68.085

5580,3 x 0.01 = 55.803

8613,9 % 0.01 = 86.139

9409, 8 x 0.001 = 9.4098

1009 x 0.001 = 1.009

8886, 1 % 0.01 = 88.861

Fecha: Puntuacion:

2088, 6 x 0.01 = 20.886

7368,7 x0.01 = 73.687

3262,5 % 0.0001 = 0.32625

5578 x 0.001 = 5.578

4508, 7 x 0.01 = 45.087

7472, 6 % 0.0001 = 0.74726

4967, 3 x 0.0001 = 0.49673

8804, 7 x 0.001 = 8.8047

6960, 7 x 0.001 = 6.9607

2261,5x0.0001 = 0.22615
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